Bellwork  Alg 2B Monday, November 20, 2017

1. The lines 6x -3y = 15 and y = x — 1 intersect at the center of a circle. A y-intercept of the circle is -1.
Write the equation of this circle.

2. I1fx2—y*=55andx—y=11,theny =
A.8 B.5 C.3 D. -8 E.-3

3. Rectangle ABCD has a perimeter of 26. The half circle with diameter AD has an area of 8z. What is the
perimeter of the part of the figure that is not shaded?
A. 26 +4rx B. 18 +8x C.18+4xn D. 14 +4n E.14+2n
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3. Rectangle ABCD has a perimeter of 26. The half circle with diameter AD has an area of 8z. What is the
perimeter of the part of the figure that is not shaded?
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